Pre-Calculus Review Day 4 ' .
Evaluate without a calculator. of 1%
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Without a calculator, sketch the graphs.
11. y =sinx 12. y =cosx 13. y =tanx 14, y = 1.5sin(2x)
15. y =2sin(3x) + 1 16. y = —4sin Gx) 17. y = cos(mx) — 2 18. y = —4cos G@")
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Complete the following: . .
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19. sin(2x)= 5. 'nx cos X 20. tan?x+1=5¢c X 21. cosx = - 2
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22. sin*x = | ~CoS() 23, sin“x + cos? x = \ 24, csc?x= | +Ccol "x
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Solve the equations on the given interval without using a calculator,
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25 tanx=-1, 0<x<2r = 170 26. secx =2, —wm<x<m L _ 7
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27. 4cos®’x—4cosx+1=0, 0<x<2m 28. sinx —2sinx =0, 0<x<2rm
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Find the remaining trigonometric ratios.
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29. 51n6—5, 0<9<2

CasS =Y

Tan© = '5/1
cot ®= Y,
Sece©® = 57«;
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Without 3 calculator, sketch the graphs
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1. y=sinx 2. y=cosx 3 y=tanx 4. y=15sin(2x) V=17
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